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Wﬁ?ﬂ:
i) @Y 9T HEE & | 3G F97-97 H FT 26 T3 & |
(ii) STYHH-YTH5 YT §: @V 37, @S §, VS G, TV ¢ 37N GUE T |

(iii) @EHHFE5IHE TIF H1 HFE | TS THSE JIHE JIH 2 HF & /
GUE HH 12 Y97 &, I9% & 3 3% & | GUE § H 4 37% & Uh IR 594
BN @GS THY Yo7 8, b & 5 3P 3 |

(iv) Y97-97 § GHT W HI3 Id5hcq 761 & | T4, 3 7Pl dicd Th 97 H, di7 JHl
JIct Uh Y97 H 37K i 37eb1 Jict di+41 J991 7 7=k 97 YeT7 137 =T 8 |
08 Y971 4 37791 130 T TI7 § @ o7 Uh J97 51 HT & |

(v) 8T JIEvIF & 3719 [HeicTikaad Sifaes il & Tl T SIIIT H GHd &

c =3 x 10° m/s

h =663 x 10734 Js
e=16x10"1°C

=47 %10 " TmA™

g, =8-854 x 1072 C2 N1 m™

1

4 e
O

-9 x 10° N m? C*

m, = 9-1 x 10™%! kg

2 T GoIAM = 1-675 x 107" kg

TIeiH ol GeIHH = 1-673 x 10727 kg
ANl &A1 = 6-023 x 1023 Iid U™ A1
legad™ HIdre = 1-38 x 10723 JK!
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General Instructions :

(1) All questions are compulsory. There are 26 questions in all.

(11)  This question paper has five sections : Section A, Section B, Section C,
Section D and Section E.

(111) Section A contains five questions of one mark each, Section B contains
five questions of two marks each, Section C contains twelve questions of
three marks each, Section D contains one value based question of

four marks and Section E contains three questions of five marks each.

(iv)  There is no overall choice. However, an internal choice has been provided
in one question of two marks, one question of three marks and all the three
questions of five marks weightage. You have to attempt only one of the

choices in such questions.

(V) You may use the following values of physical constants wherever

necessary .
¢ =3 x 10° m/s
h =663 x 1073* Js
e =1:6x 1071° C
u, =4n x 107 Tm A
e, =8-854 x 1072 C N1 m™

1
41e
O

=9 x 10 N m? C™

m, = 9-1 x 10™%! kg
Mass of neutron = 1-675 x 107%' kg
Mass of proton = 1:673 x 1072’ kg

Avogadro’s number = 6-023 x 10%° per gram mole

Boltzmann constant = 1-38 x 10723 JK~!

P T4
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Qus A
SECTION A

1. Torel IWAITa ©| 1 By gl I8 qHI Y3l hl Ishdl BT o ST 2 | ¥
o U1 o 3T9dq-Teh hl HTH &7 8 2 1

The focal length of an equiconvex lens 1s equal to the radius of curvature
of either face. What i1s the refractive index of the material of the lens ?

2.  dral fogd-a Eﬁmﬁﬁﬁ%qﬁgmwﬁ%w P % foru ey
feTfe | 1

—
Write a relation for polarisation P of a dielectric material in the

—
presence of an external electric field E .

3. 3TV dATEeh! k! TASfiAdT Ue ohl URHTNG HISU | SHhT TH.3T5. (S.I1.) 9
feTiaT | 1

Define the term ‘mobility’ of charge carriers. Write its S.I. unait.

4, %aﬁp-n#ﬁ:aﬁmmﬁﬁﬁwwﬁm%? 1

What happens when a forward bias is applied to a p-n junction ?

5.  ToRdl #iufl Tt @1.37R. (LCR) 9NUY ®, V; = Vo # Vg & | Ik UMk 1 TH
18 ? 1
In a series LCR circuit, V; = V. # Vi. What 1s the value of power factor ?

wis

SECTION B

6. Tagiq gfwel (Sretl) | Sk Toht@® o qi 99T o1 Ieci@ hileiT quT 3eh! gfsd
& T &R foIfgu | 9

State the two Kirchhoft’s rules used 1n electric networks. How are these

rules justified ?
Qcollegedunla;
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7. 3 HgEqUl TOiese AN 1 Seci@ shiloe o8 SATdaehtor agr dfeqd faaad Yo

T 31X (Yg) TohdT ST Hehdll B | 2
AT

QUG YT GEHGRT hl HTEHT G R o offe g A=l sl T8 HIfIT | 2

Write the important characteristic features by which the interference can
be distinguished from the observed diffraction pattern.

OR

Explain the basic differences between the construction and working of a
telescope and a microscope.

8.  T&um w8 foaw 3taxen 341, E, = — 13:6 eV a1 a1 3431, a, = 0-53 A |
SHY 1A hISC b FTqH (g€ 4 =l TRTId §U SR o YIH Iiod
AT T GHHY ¥ TH TAHT § GrEg ¢ Sl dUlesd o HH H @ IiEdH
BT | 2

Given the ground state energy K, = —13:6 eV and Bohr radius
a, = 0-03 A. Find out how the de Broglie wavelength associated with the
electron orbiting in the ground state would change when i1t jumps into the
first excited state.

9. (a) HER b WA (qEU) qul Tehed’ (STh) TR § FA=<1 (93)
hifore (feffan) |
(b) FeWE WG T YITH STUENT Sl G&T H TE HifT | 2

(a)  Distinguish between ‘Analog’ and ‘Digital’ forms of communication.

(b)  Explain brietly two commonly used applications of the ‘Internet’.

10. BTSSISH YA (TCH) o [T IR o 39 TR ol TIRIU &k TR W
EI3SISH ULV o TYFCH T Icdoid L@l hi Ahaididaeh AT shi ST Hehall @ |
fesTl T o 3TN & H @1 6l qI¢ &1 HH F1d i |
[feam T 2 : feet A9 R=1-03 x 10’ m™!] 2

State Bohr’s postulate of hydrogen atom which successtully explains the
emission lines in the spectrum of hydrogen atom.

Use Rydberg formula to determine the wavelength of H_ line.
[Given : Rydberg constant R = 1:03 x 10’ m™!]

P T4
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SECTION C

11. AT9e! o9 IRUY 37a¥d X, Y a1 Z fqu U € | S« 3a9d X @l Hivaa dreedl
% UH. (a.c.) 9Id % ¢ B 9 ST AT 7, df g1 a7 diecal TqH (Th &)
AT H Bid 8 | 99 37999 Y i X o 1Y JUshA H Sgh GId o < &0 @
TG T3 ATt 8, a1 afeedl shall H Tagfd 9/ § n/4 37 &l & | W, Y
oh TAM T Z Sl X o 1Y Y{shH H SIS d 9N Al H dleddl & /4 3T &l
3 | U9y 3793l X, Y 99T Z &l Ug=-u |
S 3 dFl Tl o AUiishH H IS ki, IH Fid o 80 & S feam s, o
gfger <hl Uiqeaner Heiia shifeu |
I I hl AT qAT 9N b s Teh A% SHSY FN 36 UTH b Haw
3ol hiToTu | 3

You are given three circuit elements X, Y and Z. When the element X 1s
connected across an a.c. source of a given voltage, the current and the
voltage are in the same phase. When the element Y i1s connected in series

with X across the source, voltage is ahead of the current in phase by n/4.
But the current is ahead of the voltage in phase by n/4 when Z is

connected 1n series with X across the source. Identify the circuit elements
X, Y and Z.

When all the three elements are connected 1n series across the same
source, determine the impedance of the circuit.

Draw a plot of the current versus the frequency of applied source and
mention the significance of this plot.

12. C % IR p* famed (#r9) wshw i wdihrenss w9 # fafew | e seafed
fererest X, C o1 et @ o1 wHwii 2
feam T } geFHE W, m (,C) = 11011434 u 9T m (X) = 11-009305 u.
39 TshH Rl Q-HM AThicTd hITVT | 3

Write symbolically the nuclear B~ decay process of 1;0. Is the decayed

. . 11
product X an isotope or isobar of C ?

Given the mass values m ( C) = 11-011434 u and m (X) = 11009305 u.

@
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13. 10 cm I%H Gl o TohEl ITA ©1H o A Toh o] ¥ ¥ 15 cm ¢l @1 3 |
384 o4 gidfers bl Teafd q°m Jepld ST hINT | 6 SF%AT H 20 cm Fshdl
osa1 o fohel 3Tada gUUT @bl hal WX TET AT dlfch AT=H Tfdiers, a&q @l
feurfd w & = 2 3

An object 1s placed 15 cm in front of a convex lens of focal length 10 cm.
Find the nature and position of the image formed. Where should a
concave mirror of radius of curvature 20 cm be placed so that the final
1mage 1s formed at the position of the object i1tself ?

14. HRgd fogfd-grachid 0T 1 39 dgd §Y dUIeed o HH H Hdfed

NS

(a)  vy-(TTTHT) TeRLTl

(b)  HEHAUI

(¢)  UFg-fohtul

(d) e Ul

ATH U hd 3Icqd BIdl & ? FAALH Tdfehtull shi (i) geall s dq™ o FLUR
(FATSOT) Hqe (ii) Wifaes UMI=R & &1 ftrent 8 2 3

Arrange the following electromagnetic waves in the order of their
increasing wavelength :

(a) = y-rays
(b) " Microwaves
(c) Xrays

(d) Radie’'waves

How are infra-red waves produced ? What role does infra-red radiation
play in (1) maintaining the Earth’s warmth and (1) physical therapy ?

15. SLH. (d.c.) &8 U a4 W TorH TH=aR gfgeht UTiE o TP 8 o UshH
! TYT U TI6C hify |
fortt TaTi <Y 91T ‘¢’ 8 | Wk dedl gRT 39V’ dice deh STEf3a femam Sira
2 | IO U 9TET Sl hl BIR WYTIG ohl fgehIaTi o = <hl gl I T8
I e g w fem S 2 | fR e dfgemsti o W= % TE H T
egd =id (Y8) gRT R T Srar 8 forees quaeare (k) A 1<k <2 2 |
30 HHfRgd 9T &I 99T 9S8

(a)  GYTA bl gigehratl o S fogq-aa

(b)  FYIA | Ffad Il

3 I ! g o T A9k ssreh ToTian | 3
55/2/C 7 P.T.O.
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Explain briefly the process of charging a parallel plate capacitor when it
1s connected across a d.c. battery.

A capacitor of capacitance ‘C’ is charged to ‘V’ volts by a battery. After
some time the battery i1s disconnected and the distance between the
plates 1s doubled. Now a slab of dielectric constant, 1 < k < 2, 1s
introduced to fill the space between the plates. How will the following be
affected :

(a)  The electric field between the plates of the capacitor
(b)  The energy stored in the capacitor

Justify your answer by writing the necessary expressions.

16. S SHIS &1 Hicl= hd Bl 8 ? SIS o B o §d Ac9-IvaeReh aad
Jieedl gF W H 3= Tag[q-&F ™ Icqd gl AT 8 2

U UN9Y 3G <hl TEHAT 8 S SIS <hl dicedl e & ®9 § hRIEY h
U HiIfT | 3

HAAT

(a) ~ AN hl HEIdT ¥ T SHitve foh et afYr sre 5 gt & 31t fava
U< fhe TR §-d & |

(b) G ThEl pn AY SHEE W iy &Y dleedl JIIYH bl AT, dl
39k Uleenl Ta¥g W =T Y9 BT, I« I8 (1) AUCRIh I¥8d 7, IR
(ii) Ug=ETesTeh SRfd 8§ 2 3

How 1s a Zener diode fabricated ? What causes the setting up of high
electric field even for small reverse bias voltage across the diode ?

Describe, with the help of a circuit diagram, the working of Zener diode
as a voltage regulator.

OR

(a) Explain with the help of a diagram, how depletion region and
potential barrier are formed in a junction diode.

(b) If a small voltage 1s applied to a p-n junction diode how will
the barrier potential be affected when 1t 1s (1) forward biased,

and (11) reverse biased ?
Qcollegedunla;
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17. ToREl YhmI-Hadl gs8 W D dladl d¥m 4’ 3T 1 Teh1el AMidd gH 9
TehTI-TaR[d IcesH BT 2 | UAIS foe[q 9 W &= Y9Te 8T, 9§ Yok g3 o
3= Gl TrEel ol ARE(dd Wd 8 (1) TehT1 i disrar bl €R-R s S,
(ii) At Tafertor =il i bl SR I, 3T (iii) TS fa9a i d@rT ST ?
Jcdeh QM H IV fol@eht 319+ I ol g5 hifT | 3

Light of intensity ‘I’ and frequency v 1s incident on a photosensitive

surface and causes photoelectric emission. What will be the effect on
anode current when (1) the intensity of light i1s gradually increased,
(11) the frequency of incident radiation is increased, and (111) the anode

potential i1s increased ? In each case, all other factors remain the same.

Explain, giving justification in each case.

18. Tordt TISTEeT ! |ishd 31X H & hal SATdl & 2 p-n-p SIS &l Tsh IRy
MM TR Tqse <hifoT fob I8 CIfSet Yaedesh <hl Hifd oy 1A &Hidl & |
oeed: [IRgu fob fohdl TTieel ohl (1) STMUR Udedl a9l shH UMM AR
(ii) JeEsish Tcd(geh UM @91 &rdl & | 3

When 1s a*transistor said to be in active state ? Draw a circuit diagram of
a p-n-p transistor and explain how 1t works as a transistor amplifier.
Write clearly, why 1in the case of a transistor (1) the base 1s thin and

lightly doped and (11) the emitter 1s heavily doped.

19. (a) THRU H UYgd fhEl 37cU (FH) IR Hohd ! I= G d0T H
qRafdd s shl TRl e [T dH TEYUl Hehl hl Iea@ hITT |

(b) Weh HIScTh Hohd oh H1Y Teh&] SATAshIA dTEeh qUT 1 Teh (@I SH18T
3T gUIET foh 3eh LAYV § GROMHT 3 Argietd U e 9Ted gl

2 | 3

P T4
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(a) State three important factors showing the need for translating
a low frequency signal into a high frequency wave before

transmission.

(b) Draw a sketch of a sinusoidal carrier wave along with a
modulating signal and show how these are superimposed to obtain

the resultant amplitude modulated wave.

20. a 195 9qrl o =Tetehl & foiu, Tag[q-aa (E) & 919 91 99cd (j) o IiRadd bl
SN o TTU Wk UTH (3TMoi@) SF1SY | 39 UTH H ATeToh-981Y & 39 UM o &I
Y T AT WA Fehdl 7, TSR 39T fagfq 9fwdi ¥ (1) A Ity a9
(ii) TTeTeh AR S T I9IH ISl o 9 H ThaT ST Tehell B 2
Sl ehi 3TIATE AT ol HIH mm s~ hl il ol TehicTd [ehdT 7T & | TH
off foret aR o Fo UERR Y Fife it g8q g/ cfud 61 S wedt 8 | 98 o
TS HITTT | 3

Plot' a graph showing the variation of current density (j) versus the
electric field (E) for two conductors of different materials. What
information frem this plot regarding the properties of the conducting
material, ean be obtained which can be used to select suitable materials
for use in making (1) standard resistance and (11) connecting wires in
electric circuits?

Electron drift speed is estimated to be of the order of mm s™. Yet large
current of the order of few amperes can be set up in the wire. Explain
briefly.

21. S — " W i foiflgu | ‘R’ =2 o TohE] gRr€mal Ik o (9Tsr) <hl
HY T qAT 38k g H ¥ gl W Teya forell fog W, Frarehia &3 6 foru saeies
ITed hIfSTT | STE UTST o ohrg U FFEhT &3 o ol SASTeh [RaT | 3

State Biot — Savart law. Deduce the expression for the magnetic field at a

point on the axis of a current carrying circular loop of radius ‘R’, distant
‘x’ from the centre. Hence write the magnetic field at the centre of a loop.

@
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22. UIIise hl GC=HT HHEH] Bidl 8 ? HIH Yeilise ¢RI 9ISy foh Senter shl ol <h
Yehfd AU Bt 7 | ToRet dioiiss @ UreTiid Wehrer i il § hig UidadH
T8 2, 9 & (IR) dionise i aiitd & 1 o % o 8 | Wy
hISTT &= | 3

What does a polaroid consist of 7 Show, using a simple polaroid, that light
waves are transverse 1n nature. Intensity of light coming out of a polaroid
does not change irrespective of the orientation of the pass axis of the
polaroid. Explain why.

Que 3
SECTION D

23. 3TSid o @dl H T =1 88 <3 TR o A1 | 38 AT § 36 gCH i
g SR T shl FA1fh 38 IO 4 Wdl hl sgd H FHH = @i off | 375fd
TS 4, S U Bk 9, 35 TUSET foh fag[d 1k o g8 JER0 § $9 <rad
1 1 Ha™ & | 3Siid sl 59 39 1A bl Haw THd H 3T =T, df 384 2R

22 b T JT2HT AT ¢ T e |
fAeafaigd 9t <53 . . 4

(a) Td@ Ak o diEed o ot IT9 dleedl o1 3EaTh & ?
(b) = wfck Tomes 1 arerd At ot &9 B | T Shifs |

(c)  3TSd qAUT IHeh AT gRI USRI G el ohl ToIRay |
Ajit had a high tension tower erected on his farm land. He kept

complaining to the authorities to remove i1t as it was occupying a large
portion of his land. His uncle, who was a teacher, explained to him the
need for erecting these towers for efficient transmission of power. As Ajit
realized 1ts significance, he stopped complaining.

Answer the following questions :

(a) Why is 1t necessary to transport power at high voltage ?

(b) A low power factor implies large power loss. Explain.

(c) Write two values each displayed by Ajit and his uncle.

P T4
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24.

55/2/C

(a)

(b)

(c)

(a)

(b)

Qus g
SECTION E

o & fg-fardt v #, dundt qen fommsft safoertor bt & fow wfoeeen
(7dt) =t Ted I | 358 et 1 =S o folu =ik egcua hifvu |

gIMST Tob 39 T U 9C W UTd TWhst e, aread | gHI Ushdl TSIl 9
e frerdd Gedt T TSI B |

foforft 9 A v forft (feere) <ht =ierE ferat Bt =nfan wa 3o
10 3f=rss fordlt teha T3t o 9ed & e 3f=ss o 3T=eT U &l b,
Wﬁ%ﬁ%ﬁ?ﬁ@lmm%ﬁ%ﬂ?ﬁ%500nmmﬁ
U CANI

AT

al Udcl 39 9l Ly qAT Ly, 1 BIhy gRET eI £, 991 £, 8 | 30 39
YehR EF9eh H Tl 71 8 Tob gkl 318 FHATA (Th &) 8 | Ueh a%&q ¥
L, % Bish8 = T (ST8Y) Topdll fomg W W@l 2 | 98 o 39 HF19H gRI, 39
g% 1 Ufdferrsl ST €21 6 foTT Teh foRtor @ sHY 3R 399 39
HAISH hl BIhd U o Y sleh ITed shitWY |

Il 3G -H GMT MU 9N Thel S50 ABC & %eish AB WX JehTST <hi
Teh- TR0 PQ 3TMIdd Bl a8 3T heAsh AC ¥ 39 YR 71 Bidl & Toh
AQ = AR.:

A

B C
50 0 9 39 foptur & A1 ol e & fou fomor 3@ sHee | afe fisy
T HIU 60° 3 3N 5T & Ui &1 adas /3 3, d AHa Il

deT TI=e ahivl sl U AT hifalT |
Qcol legedunia:
India’s largest Student Review Platform
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(a) In Young's double slit experiment, deduce the conditions for
obtaining constructive and destructive interference fringes. Hence
deduce the expression for the fringe width.

(b) Show that the {ringe pattern on the screen 1s actually a
superposition of single slit diffraction from each slit.

(c) What should be the width of each slit to obtain 10 maxima of the
double slit pattern within the central maximum of the single slit
pattern, for green light of wavelength 500 nm, i1if the separation
between two slits 1s 1 mm ?

OR

(a) Two thin convex lenses L, and L, of focal lengths f, and f,
respectively, are placed coaxially in contact. An object 1s placed at
a point beyond the focus of lens L,. Draw a ray diagram to show
the image formation by the combination and hence derive the
expression for the focal length of the combined system.

(b) A ray PQ incident on the face AB of a prism ABC, as shown 1n the

figure, emerges from the face AC such that AQ = AR.
A

B C

Draw the ray diagram showing the passage of the ray through the
prism. If the angle of the prism is 60° and refractive index of the
material of the prism is /3, determine the values of angle of
incidence and angle of deviation.

25. (a) el wrey fora-am 4 wh fepr (freed) & Q1 AW g, 41 q,, HAW:
r e r, ®fom | wm fem i feufes oot & fo oo w
HITTT |

P T4

@
Qcollegedunla;
India’s largest Student Review Platform

—

55/2/C 13



(b) T GHETE BIYS ABC hl Y Y1 hl o aTg [ & | 38 SMI81 T ShH:
+Q,+2QW—3Q,@?%@WT@W§ | e 39 TSN <hl SHAT:
A,, B, 991 C, W fowmiud feram Sru, i 39 93 feafd § o 4 ford

BT AT B, FEI A, B, 1 C, %A AB, BC d91 CA & Hea-fag
g ? 5
A+ Q)

B (+ 2Q) B4 C (- 3Q)

HAAT

forgq T hl 9Tt ST | 39kl THLTTE. (S.1.) U foifRa |

T3 o THIH &1 Iooi@ T AT hITT | Tohel BRI ATl shl YT ‘@’ 7 |
$H%h hrg YL T6d TohH Toirg STTAST + q o SHIUT STEL 3hi ST FoTohd HT1d hiTTY |
ZHhT HH &bl Gieg (F72) HiH dicd I3 b G185 (SAMMY) q1 AR W

YT =i T8l ShLdl ? TIS iU | 5
(a) ~ Deduce the expression for the potential energy of a system of two
- > . .
charges g, and q, located at r, and r, respectively in an external

electriedield.

(b) Three point charges, + Q, + 2Q and — 3Q are placed at the vertices
of an equilateral triangle ABC of side [. If these charges are
displaced to the mid-points A;, B, and C, respectively, find the
amount of the work done in shifting the charges to the new
locations.

A+ Q)

B (+ 2Q) B4 C (-3Q)

55/2/C 14
collegedunia:
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26.

55/2/C

Define electric flux. Write 1ts S.I. unit.

State and explain Gauss’s law. Find out the outward flux due to a point
charge + q placed at the centre of a cube of side ‘a’. Why 1s 1t found to be
independent of the size and shape of the surface enclosing 1t ? Explain.

(a) ThEl Hecll & T-Uehcd ol TRUTNG <hitalw | TRl IiATICTeRT oA
H-9ehed ‘L’ 7 | 3HY YaTEd o g &1 7F I ¥ T % de W,
" Gfad Sl & A o U Ueh s95Teh UTed <hifolu |

(b) 20 cm YSIT % T IR U (H) MNOP i &fds €9 H 3@ H
T T AR, Tohel Tohom™ raehi &8 § @1 T 8 | Fraehid &
i Te3m Searer (1Y) e 6l 3T 7 | 39 I I 20 cm s~ o 3T AT
" Eid1 a1 g diich 98 Faehid & § §Tal Hehel I |

()  Irah &9 9§ et feherd gU, 39 U § IR faggd g ki fesm
<! TS | 39 19 (o[9) ¥ forq amr e 9 s+ @it 7

(ii) E9 % BoH % ®U H (F1Y) Freehd Foidd do1 Yia fagq-ameeh

5 (3.TH.UH.) & iadd (foeem) = eoid & fow o umw

SEIEU 5]
HAAT

(a)  ToRHEl JTTRR UTST <RI &A% A 2 3 3Ed I 9 YaTRd B @R | 35
HIT FFAh &7 TGS i ST (SA1EY) | I8 T 6 78 9 (I7)

@Qﬁ%wﬁﬂﬁwméﬁwmw
m—IAI

1 P.TA3
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(a)  Define self-inductance of a coil. Obtain an expression for the
energy stored in a solenoid of self-inductance ‘L’ when the current
through 1t grows from zero to ‘I’.

(b) A square loop MNOP of side 20 cm is placed horizontally in a
uniform magnetic field acting vertically downwards as shown i1n
the figure. The loop is pulled with a constant velocity of 20 cm s™1
till 1t goes out of the field.
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(1) Depict the direction of the induced current in the loop as it
goes out of the field. For how long would the current in the
loop persist ?

(11) Plot a graph showing the variation of magnetic flux and
induced emf as a function of time.

OR N
(a) Draw the magnetic field lines due to a circular loop of area A

carrying currenl:) I. Show that 1t acts as a bar magnet of magnetic
moment m=1A .

(b)  Derive the expression for the magnetic field due to a solenoid of
length ‘2 /’, radius ‘a’ having ‘n’ number of turns per unit length
and carrying a steady current ‘I’ at a point on the axial line,
distant ‘r’ from the centre of the solenoid. How does this expression

compare with the axial magnetic field due to a bar magnet of

magnetic moment ‘m’ ?
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